Status: Recommended As-is Financial Officer: Rebecca Tisdale

APPLICATION SUMMARY							
Application Summary	Budgeted	Requested	Recommended	Approved	Petitioned	Elected	
APPLICATION TOTALS	\$(30,647.25)	\$28,052.25	\$28,052.25	\$28,052.25	\$28,052.25		
Undergraduate Special Fees		\$28,052.25	\$28,052.25	\$28,052.25	\$28,052.25		
7730 - Car / Van Rental	\$(480.00)	\$480.00	\$480.00	\$480.00	\$480.00		
7740 - Accomodations	\$(300.00)	\$0.00	\$0.00	\$0.00			
7510 - Facilities Rental	\$(2,150.00)	\$2,650.00	\$2,650.00	\$2,650.00	\$2,650.00		
7710 - Travel Fares	\$(400.00)	\$0.00	\$0.00	\$0.00			
7720 - Gas	\$(240.00)	\$240.00	\$240.00	\$240.00	\$240.00		
7220 - Marketing Copies / Print Expenses	\$(77.00)	\$77.00	\$77.00	\$77.00	\$77.00		
7410 - Equipment Purchase (Non-Cap)	\$(800.00)	\$800.00	\$800.00	\$800.00	\$800.00		
7420 - Equipment Rental	\$(851.25)	\$851.25	\$851.25	\$851.25	\$851.25		
6310 - Honoraria Fees	\$(7,100.00)	\$7,100.00	\$7,100.00	\$7,100.00	\$7,100.00		
6320 - Technical Services	\$(1,300.00)	\$300.00	\$300.00	\$300.00	\$300.00		
6560 - Event Food	\$(16,924.00)	\$15,554.00	\$15,554.00	\$15,554.00	\$15,554.00		

### **QUESTIONS & ANSWERS**

### Has your VSO received funding from the ASSU Undergraduate Senate Appropriations Committee in prior years? If so, how much and when?

Our VSO relied for many years on the ASSU General Fee, but last year was the first time we received Special Fee funding from the Appropriations Committee. We received \$15,228.25 last year.

# Have you registered your events/organizations with events.stanford.edu? (note: registration is mandatory) (yes/no)

yes

#### How large is your officer core?

----

## If you applied for Special Fees last year, is there an increase in the amount you're seeking this year? If so, why?

Yes, because our organization and its programming and events are growing steadily each year; it will be necessary to have a larger budget to support growth from the already large demand last year.

#### Please define the services provided by your group with the Special Fee, as per the ASSU Constitution:

Educational, cultural, and social programming to provide all students with a resource for secular Jewish programming.

# Please list all:1) assets, 2) reserves, 3) authorized and unauthorized non-ASSU bank accounts, 4) sources of funding other than Special

1)\$11,796.98 (will be used by the end of '06-'07 academic year

2)\$0 3)none

4)Hillel, cosponsorships with SIA, ISSU, academic departments, etc.

### What events/programs does your group hold throughout the year for the Stanford Community?

We hold barbeques, brunches, speaker events, parties, and special events like Israel Independence Week festivities in our constant attempt to include as much of the Stanford Community as possible in our VSO.

## Have you applied for Special Fees in the past 3 years? If so, please detail the outcome of each attempt.

Last year was the first time we received Special Fee funding from the Appropriations Committee. We received \$15,228.25 last year.

# How do you plan to publicize your events/programs to the greater Stanford community? Have you registered with Events at Stanford?

We advertise through events.stanford.edu, ISIS, flyers, email lists, and more.

#### How many members are on your email list?

750

# If you are an umbrella group, please list the groups for which you are applying for Special Fees, their ASSU account numbers, and contact

information for their financial officers.

None

## Please describe a few past events organized by our VSO (please limit your response to 50-100 words).

Israel Independence Week- For this educational and cultural event we strive to promote awareness of Israel in the entire Stanford community. We hope to introduce fellow students to the culture of Israel and celebrate with traditional foods/events.

Assorted Speaker Events- There are many facets to the Jewish tradition, including community awareness, education, culture, and the connection to Israel, and we strive to bring speakers who will educate students on all of these levels.

Bagel Brunches- This is possibly our most popular event- attracting

both Jewish and non-Jewish students to the Ziff

Center or CoHo for a relaxing, jazz accompanied, bagel brunch.

## What are the three largest line item requests in your budget and why?

Israel Independence Week- For this educational and cultural event we strive to promote awareness of Israel in the entire Stanford community. We hope to introduce fellow students to

the culture of Israel and celebrate with traditional foods/events.

Assorted Speaker Events- There are many facets to the Jewish tradition, including community awareness, education, culture, and the connection to Israel, and we strive to bring speakers who will educate students on all of these levels.

Bagel Brunches- This is possibly our most popular event- attracting both Jewish and non-Jewish students to the Ziff
Center or CoHo for a relaxing, jazz accompanied, bagel brunch.

#### What is the average attendance at your events?

Depending on the event, anywhere from 10 to 500 people.

## What is the fundamental goal/purpose of your VSO (please limit your response to 50-100 words)?

The Jewish Student Association is an educational, cultural and social organization dedicated to:

- Serving the entire Stanford community by providing initiatives and opportunities for Stanford students to gain a greater understanding of Jewish traditions, history, values, and culture.
- Promoting awareness of the specific causes and issues facing Jewish people today around the world, and potential issues facing Stanford students in the future, when they become the leaders of tomorrow.

### What percentage of your total membership is undergraduate? Graduate?

85% undergraduate 15% graduate

#### Why are you requesting Special Fees?

The Jewish Students Association does a lot to serve the Undergraduate Community at Stanford; not just the 10% of Stanford's undergraduate population that is Jewish, and focuses its efforts on trying to attract as broad a population as possible. The amount of programming and events demanded by the Undergraduate population requires us to seek Special Fees to support our increasing costs associated with throwing more events for larger audiences. The attendance at our events has grown steadily over the past few years and with our ambitions for next year, we expect this trend to continue.

#### What is your total membership?

300

## When and why was your VSO established (please limit your response to 50-100 words)?

Our VSO was established several years ago to fill the need for cultural and secular Jewish programming. It was formed to provide this through educational, cultural, and social programming for both the Jewish community and the greater Stanford community.

BUDGET DETAIL							
		Budgeted	Requested	Recommend	Approved	Petitioned	Elected
1 Co-Sponsored Comm		\$(301.00)	\$301.00	\$301.00	\$301.00	\$301.00	
7220 Marketing Copies / Print	Habitat for Humanity with a Muslim VSO. 300 copies*.07	(21.00)	\$21.00	\$21.00	\$21.00	\$21.00	
Expenses (Undergraduate Special							
Fees/Annual) 7720	8 vans*20 mi*.25	\$(40.00)	\$40.00	\$40.00	\$40.00	\$40.00	
Gas (Undergraduate Special Fees/Annual)							
7730 Car / Van Rental (Undergraduate Special Fees/Annual)	8 Haas vans*\$30=\$240	\$(240.00)	\$240.00	\$240.00	\$240.00	\$240.00	
2 Co-sponsored Civil R Last year our speakers di	<b>lights Speakers</b> iscussed affordable housing and the death	<b>\$(1,380.00)</b> penalty. We expect similar sp	<b>\$1,380.00</b> eakers discussir	<b>\$1,380.00</b> ng different issue	<b>\$1,380.00</b> s next year.	\$1,380.00	
<b>6310</b> Honoraria Fees (Undergraduate Special	1 speaker=\$150	\$(150.00)	\$150.00	\$150.00	\$150.00	\$150.00	
Fees/Annual) 6310 Honoraria Fees (Undergraduate Special	3 panelists*\$50/speaker	\$(150.00)	\$150.00	\$150.00	\$150.00	\$150.00	
Fees/Annual)							
<b>6320</b> Technical Services (Undergraduate Special	auditorium rental- Kresge	\$(1,000.00)	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	
Fees/Annual) 6560 Event Food (Undergraduate Special	snack=\$40	\$(40.00)	\$40.00	\$40.00	\$40.00	\$40.00	
Fees/Annual) 6560 Event Food (Undergraduate Special	snack=\$40	\$(40.00)	\$40.00	\$40.00	\$40.00	\$40.00	
Fees/Annual)  2 Co-Sponsored Minori	ity Speakers	\$(1,740.00)	\$1,040.00	\$1,040.00	\$1,040.00	\$1,040.00	
Last year we invited a Ga 6310	ay Israeli Chef and an Ethiopian Actor to sp speaker=\$500		•			•	o-sponsorship f
Honoraria Fees (Undergraduate Special	Speaker — \$300	\$(500.00)	\$500.00	\$500.00	\$500.00	\$500.00	
Fees/Annual) 6310 Honoraria Fees	speaker=\$500	\$(500.00)	\$500.00	\$500.00	\$500.00	\$500.00	
(Undergraduate Special Fees/Annual)							
<b>6560</b> Event Food (Undergraduate Special	snack=\$40	\$(40.00)	\$40.00	\$40.00	\$40.00	\$40.00	
Fees/Annual)	flight=\$200	+(200.00)		+0.00	+0.00		
7710 Travel Fares (Undergraduate Special	IIIgiit=\$200	\$(200.00)	\$0.00	\$0.00	\$0.00		
Fees/Annual) 7710 Travel Fares (Undergraduate Special	flight=\$200	\$(200.00)	\$0.00	\$0.00	\$0.00		
Fees/Annual) 7740 Accomodations	1 hotel room/ 1 night=\$150	\$(150.00)	\$0.00	\$0.00	\$0.00		
(Undergraduate Special Fees/Annual)	1 hotal raam/1 night_#150	#(1F0.00)	φο οο	#0.00	<b>*</b> 0.00		
7740 Accomodations (Undergraduate Special Fees/Annual)	1 hotel room/1 night=\$150	\$(150.00)	\$0.00	\$0.00	\$0.00		
Bagel Brunches	and Condense	\$(4,600.00)	\$4,600.00	\$4,600.00	\$4,600.00	\$4,600.00	
These brunches, held sev 6310 Honoraria Fees (Undergraduate Special	veral Sundays per quarter, are held either 1 band*\$160*10 brunches	st the CoHo or the Ziff Center \$(1,600.00)	\$1,600.00	\$1,600.00	\$1,600.00	ay brunch of ba \$1,600.00	geis, cream ch
Fees/Annual) 6560 Event Food (Undergraduate Special	Lunch (\$5)*60 people*10 brunches	\$(3,000.00)	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	
Fees/Annual)  Beit Midrash Dinner Se		\$(2,421.00)	\$2,421.00	\$2,421.00	\$2,421.00	\$2,421.00	
Recreating the vigorous, <b>6560</b>	argumentative culture of a traditional Beit 20 people *\$8/meal*15 dinners	Midrash, or house of study, we \$(2,400.00)	e will take a lool \$2,400.00	k at the ethical th \$2,400.00	ninking in \$2,400.00	\$2,400.00	
Event Food (Undergraduate Special Fees/Annual)	people - quyinedi 10 diillicia	<b>φ(2,4υυ.υ</b> 0)	φ2,400.00	φ <b>∠,+</b> υυ.υυ	φ <b>∠,≒</b> υυ.υυ	φ∠,400.00	

		Budgeted		Recommend	Approved	Petitioned	Electe
Beit Midrash Dinner Sei		\$(2,421.00)	\$2,421.00	\$2,421.00	\$2,421.00	\$2,421.00	
	rgumentative culture of a traditional Beit Midrash, c				_	¢21.00	
<b>7220</b> Marketing Copies / Print	300 copies*\$.07	\$(21.00)	\$21.00	\$21.00	\$21.00	\$21.00	
Expenses							
(Undergraduate Special							
Fees/Annual)  Community Service Eve	nt	\$(1,220.00)	\$1,220.00	\$1,220.00	\$1,220.00	\$1,220.00	
	th various organizations in San Francisco to organize						
6310	speaker=\$500	\$(500.00)	\$500.00	\$500.00	\$500.00	\$500.00	
Honoraria Fees	•	+()	400000	4	4	400000	
(Undergraduate Special							
Fees/Annual) 6560	\$8*50 people	\$(400.00)	\$400.00	\$400.00	\$400.00	\$400.00	
Event Food	que su people	\$(400.00)	φ+00.00	\$ <del>+</del> 00.00	\$400.00	\$ <del>1</del> 00.00	
(Undergraduate Special							
Fees/Annual)	2 Upper (ppe * 40 miles * 25	±(00,00)	+00 00	+00.00	+00.00	+00 00	
<b>7720</b> Gas	8 Haas vans*40 miles*.25	\$(80.00)	\$80.00	\$80.00	\$80.00	\$80.00	
(Undergraduate Special							
Fees/Annual)							
7730	8 Haas vans*\$30	\$(240.00)	\$240.00	\$240.00	\$240.00	\$240.00	
Car / Van Rental (Undergraduate Special							
Fees/Annual)							
Cultural Speaker		\$(200.00)	\$200.00	\$200.00	\$200.00	\$200.00	
	er talk about the diversity of Jewish culture(s) in the	diaspora. Next year	r we would like	-	cultural speaker	r.	
6310	1 speaker*\$200	\$(200.00)	\$200.00	\$200.00	\$200.00	\$200.00	
Honoraria Fees (Undergraduate Special							
Fees/Annual)							
Documentary and Spea		\$(320.00)	\$320.00	\$320.00	\$320.00	\$320.00	
	d Uplift", a documentary about an Orthodox J		e bra shop she	runs on the Lowe	er East Side, ser	ving women of ma	any culture
6310	speaker=\$300	\$(300.00)	\$300.00	\$300.00	\$300.00	\$300.00	
Honoraria Fees (Undergraduate Special							
Fees/Annual)							
7420	projector=\$20 rental fee	\$(20.00)	\$20.00	\$20.00	\$20.00	\$20.00	
Equipment Rental							
(Undergraduate Special Fees/Annual)							
Dorm Discussions on Is	rael	\$(500.00)	\$500.00	\$500.00	\$500.00	\$500.00	
	ents to dorms to answer students' questions about I					φ500,00	
6560	50 people*\$2/person*5 dorms	\$(500.00)	\$500.00	\$500.00	\$500.00	\$500.00	
Event Food		1()	,	,	,	,	
(Undergraduate Special							
Fees/Annual) Faculty Forums		\$(864.00)	\$864.00	\$864.00	\$864.00	\$864.00	
	d academic programming, we have approximately 3		•	•	•	•	spects of th
6560	12 people/dinner*\$8/person*3/quarter*3	\$(864.00)	\$864.00	\$864.00	\$864.00	\$864.00	.,
Event Food	quarters	1(/	,	,	,	,	
(Undergraduate Special							
Fees/Annual) Freshmen/Transfers Di	nner	\$(240.00)	\$0.00	\$0.00	\$0.00		
-	er quarter to allow freshmen and transfers who went			rested freshmae			
6560	30 students * \$8/meal	\$(240.00)	\$0.00	\$0.00	\$0.00		
Event Food	, ,	Ψ(Σ.0.00)	φσ.σσ	φσ.σσ	Ψ0.00		
(Undergraduate Special							
Fees/Annual)	o Croam Social	¢(100.00\	¢100.00	¢100.00	¢100 00	¢100 00	
Freshmen/Transfers Ic	e Cream Social all freshmen and transfers who want to be involved	<b>\$(100.00)</b> d in 1SA. It will includ	\$100.00	\$100.00	\$100.00	\$100.00	
6560	\$2*ice cream for 50 students	\$(100.00)	\$100.00	\$100.00	\$100.00	\$100.00	
Event Food	\$2 fee deall for 50 stadents	\$(100.00)	\$100.00	\$100.00	\$100.00	\$100.00	
(Undergraduate Special							
Fees/Annual)							
Freshmen/Transfers Re		\$(1,130.00)	\$0.00	\$0.00	\$0.00		
	eadlands at the beginning of the school year for all I 30 students*3 meals*\$7/meal						
<b>6560</b> Event Food	30 students · 3 means · \$7/mean	\$(630.00)	\$0.00	\$0.00	\$0.00		
(Undergraduate Special							
Fees/Annual)							
7510	\$500/1 night cabin	\$(500.00)	\$0.00	\$0.00	\$0.00		
Facilities Rental (Undergraduate Special							
Fees/Annual)							
	eek	\$(3,200.00)	\$2,700.00	\$2,700.00	\$2,700.00	\$2,700.00	
ısraei independence w	day of Israel's independence. It will include many fe	estivities including fal	lafel in White Pl	aza and a Party l	Under the Stars	and is open to the	whole Sta
	DJ for Party Under the Stars	\$(300.00)	\$300.00	\$300.00	\$300.00	\$300.00	
This week celebrates the o							
This week celebrates the c 6310 Honoraria Fees							
This week celebrates the of 6310 Honoraria Fees (Undergraduate Special							
<b>6310</b> Honoraria Fees (Undergraduate Special Fees/Annual)	2 security guards for Party Under the Stars-	\$(300.00)	\$300.00	\$300.00	\$300.00	\$300,00	
This week celebrates the (6310 Honoraria Fees (Undergraduate Special	2 security guards for Party Under the Stars- 2*\$150/guard	\$(300.00)	\$300.00	\$300.00	\$300.00	\$300.00	

		Budgeted	Requested	Recommend	Approved	Petitioned	Elected
Israel Independence V		\$(3,200.00)	\$2,700.00	\$2,700.00	\$2,700.00	\$2,700.00	
	day of Israel's independence. It will include many fest	_					the whole Stan
<b>6560</b> Event Food	food for Party Under the Sky: 500 people*\$2	\$(1,000.00)	\$500.00	\$500.00	\$500.00	\$500.00	
(Undergraduate Special							
Fees/Annual) 6560	falafel in White Plaza: 400 people*\$1	\$(400.00)	\$400.00	\$400.00	\$400.00	\$400.00	
Event Food		φ(400.00)	φ400.00	φ400.00	φ-100.00	φ-100.00	
(Undergraduate Special Fees/Annual)							
7410	decorations for Party Under the Sky	\$(400.00)	\$400.00	\$400.00	\$400.00	\$400.00	
Equipment Purchase							
(Non-Cap) (Undergraduate Special							
Fees/Annual)	Donat flow for Donate Warden the Clark form Franch	+(400.00)		+400.00		+400.00	
<b>7420</b> Equipment Rental	Dance floor for Party Under the Sky from Events and Services	\$(400.00)	\$400.00	\$400.00	\$400.00	\$400.00	
(Undergraduate Special							
Fees/Annual) 7420	Dance floor for Party Under the Stars from	\$(400.00)	\$400.00	\$400.00	\$400.00	\$400.00	
Equipment Rental	Events and Services	φ(400.00)	φ400.00	φ400.00	φ-100.00	φ-100.00	
(Undergraduate Special Fees/Annual)							
Israel Welcome Festiv	ities	\$(500.00)	\$500.00	\$500.00	\$500.00	\$500.00	
Series of events designed	d to welcome students from Israel and students interes	ted in learning abo	ut/discussing Is	rael to Stanford		des an Israel W	elcome at the C
<b>6560</b> Event Food	food for 50 students=\$250*2 events=\$500	\$(500.00)	\$500.00	\$500.00	\$500.00	\$500.00	
(Undergraduate Special							
Fees/Annual)		¢(640.00)	#640.00	¢640.00	¢640.00	¢640.00	
Israeli Speaker Series As we have in the past A	ve plan to bring speakers that discuss Israel from vario	<b>\$(640.00)</b> Jus perspectives an	<b>\$640.00</b> d angles Speci	<b>\$640.00</b> fically we would	<b>\$640.00</b> Llike to	\$640.00	
6310	Jewish connection panel: 3	\$(150.00)	\$150.00	\$150.00	\$150.00	\$150.00	
Honoraria Fees	speakers*\$50/speaker						
(Undergraduate Special Fees/Annual)							
6310	Internal Issues speaker series: 3	\$(450.00)	\$450.00	\$450.00	\$450.00	\$450.00	
Honoraria Fees (Undergraduate Special	speakers*\$150/speaker=\$450						
Fees/Annual)							
<b>6560</b> Event Food	snack=\$40	\$(40.00)	\$40.00	\$40.00	\$40.00	\$40.00	
(Undergraduate Special							
Fees/Annual)		\$(700.00)	\$700.00	\$700.00	\$700.00	\$700.00	
Jewish New Year Party In an event to include me	<b>,</b> ore social programming, JSA has recently made an atte		•	•	•	•	Year's themed
6310	\$250/1 DJ	\$(250.00)	\$250.00	\$250.00	\$250.00	\$250.00	
Honoraria Fees (Undergraduate Special							
Fees/Annual)							
6560	\$300 for New Year's food (apples, honey, cake,	\$(300.00)	\$300.00	\$300.00	\$300.00	\$300.00	
Event Food (Undergraduate Special	etc.)						
Fees/Annual)							
<b>7410</b> Equipment Purchase	decorations	\$(150.00)	\$150.00	\$150.00	\$150.00	\$150.00	
(Non-Cap)							
(Undergraduate Special Fees/Annual)							
JSIB Bowling		\$(475.00)	\$475.00	\$475.00	\$475.00	\$475.00	
· -	d bowling for a night at the bowling alley in Palo Alto.		· -				gs in the Jewish
<b>6560</b> Event Food	30 people*\$5/food	\$(150.00)	\$150.00	\$150.00	\$150.00	\$150.00	
(Undergraduate Special							
Fees/Annual) 7510	\$325/1 night facilities rental	\$(325.00)	\$325.00	\$325.00	\$325.00	\$325.00	
Facilities Rental	\$323/1 mgnt racinites rental	\$(323.00)	\$323.00	\$323.00	\$323.00	<b>\$</b> 323.00	
(Undergraduate Special Fees/Annual)							
JSIB Broomball		\$(425.00)	\$425.00	\$425.00	\$425.00	\$425.00	
	d playing broomball for a night at the Winter Lodge, an		•	•		•	program of big
6560	20 people*\$5/food	\$(100.00)	\$100.00	\$100.00	\$100.00	\$100.00	
Event Food (Undergraduate Special							
Fees/Annual)	#20F/1 wight facilities	#/20F 00\			+00= 05	1005.0-	
<b>7510</b> Facilities Rental	\$325/1 night facilities rental	\$(325.00)	\$325.00	\$325.00	\$325.00	\$325.00	
(Undergraduate Special							
Fees/Annual) Muslim / lewish / Israel	i/Arab Dinner and Discussion	\$(1,600.00)	\$1,600.00	\$1,600.00	\$1,600.00	\$1,600.00	
	n order to open up dialogue between these different re					φ1,000.00	
6560	200 students*\$8/dinner	\$(1,600.00)	\$1,600.00	\$1,600.00	\$1,600.00	\$1,600.00	
Event Food (Undergraduate Special							
Fees/Annual)							
OneVoice	About Tourish and Musel's at 1 to 6	\$(600.00)	\$600.00	\$600.00	\$600.00	\$600.00	
inis program brings toge	ther Jewish and Muslim students for a mediated discus	sion of how to reso	ive differences.				

		Budgeted	Requested	Recommend	Approved	Petitioned	Electe
OneVoice	Tourish and Muslim shall be Committee to the	\$(600.00)	\$600.00	\$600.00	\$600.00	\$600.00	
This program brings togeth <b>6310</b>	ner Jewish and Muslim students for a mediated disc Mediator/discussion leader=\$500	cussion of how to res \$(500.00)	olve differences. \$500.00	\$500.00	\$500.00	\$500.00	
Honoraria Fees	riculatory discussion reduct = \$500	\$(500.00)	\$300.00	\$300.00	\$300.00	\$300.00	
Undergraduate Special							
Fees/Annual) <b>6560</b>	50 people*\$2	\$(100.00)	\$100.00	\$100.00	\$100.00	\$100.00	
Event Food	50 pcop.c	\$(100.00)	\$100.00	\$100.00	\$100.00	φ100.00	
Undergraduate Special							
ees/Annual) Recruitment BBQs		\$(3,500.00)	\$3,500.00	¢2 500 00	\$3,500.00	\$3,500.00	
_	held at the beginning of each quarter to welcome :			<b>\$3,500.00</b>	\$3,300.00	\$3,300.00	
6310	\$250/DJ*2 BBQs	\$(500.00)	\$500.00	\$500.00	\$500.00	\$500.00	
Honoraria Fees		(()	,	,		,	
Undergraduate Special Fees/Annual)							
6560	\$1000/food for 150-200*3 BBQs	\$(3,000.00)	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	
Event Food		, ,	. ,	. ,			
Undergraduate Special Fees/Annual)							
Screw-Your-Sib Nights		\$(2,580.00)	\$2,580.00	\$2,580.00	\$2,580.00	\$2,580.00	
	roups on campus, the JSA is constantly striving to					. ,	accomplish
5310	\$500/speaker for event*2 events	\$(1,000.00)	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	
Honoraria Fees (Undergraduate Special							
ees/Annual)							
6560	\$8/student*60 people*2	\$(960.00)	\$960.00	\$960.00	\$960.00	\$960.00	
Event Food							
Undergraduate Special ees/Annual)							
7510	Venue rental for 2 events	\$(500.00)	\$500.00	\$500.00	\$500.00	\$500.00	
Facilities Rental (Undergraduate Special							
Undergraduate Special Fees/Annual)							
7720	12 cars (60/5) *40 miles to San	\$(120.00)	\$120.00	\$120.00	\$120.00	\$120.00	
Gas	Francisco*\$.25/mile=\$120 for community						
[Undergraduate Special Fees/Annual)	service event; other event will most likely be						
Simchat Torah Party	held on campus	\$(80.00)	\$80.00	\$80.00	\$80.00	\$80.00	
· · · · · · · · · · · · · · · · · · ·	n holiday, we will be having a party with traditional		•	•	•	\$60.00	
6560	40 pp/*\$2	\$(80.00)	\$80.00	\$80.00	\$80.00	\$80.00	
Event Food					•	•	
Undergraduate Special Fees/Annual)							
Tu B'Shvat Work Day/Pl	ay Day	\$(410.00)	\$410.00	\$410.00	\$410.00	\$410.00	
A day to work and play in t	the Columbae garden (or perhaps another house's	garden next year) fo	r Tu B'shvat, the	holiday celebrat	ing the birthda	y of the trees. We	will be pla
6560	40 people*\$4/lunch	\$(160.00)	\$160.00	\$160.00	\$160.00	\$160.00	
Event Food Undergraduate Special							
Fees/Annual)							
7410	Trees=\$250	\$(250.00)	\$250.00	\$250.00	\$250.00	\$250.00	
Equipment Purchase (Non-Cap)							
Undergraduate Special							
ees/Annual)		#/F01 2F\	#F01 2F	#F01 2F	#F01.2F	#F01 2F	
<b>Yiddish Tango Worksho</b> This is a discussion of the r	• roots of the Yiddish tango tradition in Jewish immic	<b>\$(581.25)</b> gration to Argentina i	<b>\$581.25</b> n the early 20th	<b>\$581.25</b> century, and a w	<b>\$581.25</b> orkshop on da	<b>\$581.25</b> ncing the tango to	this unique
6310	dance teacher=\$50	\$(50.00)	\$50.00	\$50.00	\$50.00	\$50.00	, and unique
Honoraria Fees	•	+()	,	,	,	,	
Undergraduate Special							
Fees/Annual) <b>7420</b>	Boom box rental=\$31.25	\$(31.25)	\$31.25	\$31.25	\$31.25	\$31.25	
Equipment Rental	•	+()	,	,	,	,	
Undergraduate Special Fees/Annual)							
<b>7510</b>	\$500 rental fee/night	\$(500.00)	\$500.00	\$500.00	\$500.00	\$500.00	
acilities Rental	-	+(-30.00)	T3.00	,	, 5.00	, J. 00	
Undergraduate Special ees/Annual)							
Ziff Movie Nights		\$(315.00)	\$315.00	\$315.00	\$315.00	\$315.00	
	nonth (on Thursdays) at Ziff Center to engage thos		•	•	•	,	
6560	\$20 for popcorn and drinks*14 movie nights	\$(280.00)	\$280.00	\$280.00	\$280.00	\$280.00	
Event Food Undergraduate Special							
Undergraduate Special Fees/Annual)							
7220	\$.07/copy*500 copies	\$(35.00)	\$35.00	\$35.00	\$35.00	\$35.00	
Marketing Copies / Print		,					
Expenses (Undergraduate Special							
Fees/Annual)							
APPLICATION TOTALS		\$(30,622.25)	\$28,052.25	\$28,052.25	\$28,052.25	\$28,052.25	